N of associated (recoToSim) looper tracks vs normalized X

tracks vs normalized x? |

(recoToSim)

20

16 18

14

berset

track x?

o

- S
syoeJ) aredydnp

[N o associated

s normalized x?

K v:

[N of reco traci

32
—LX
00 X
— O
g
© =
<
—
N
—
o
0
©
<
o
1<)
© syoeln axe)
02
N <
00 X
— O
<]
© 5 o
= 2
]
<
-8
N =S
oo
o
— E
© [
N
© w_
&
~ o
9
2
A fr
i S
3
-
[
° 5 S| syoen ann
T
2150
mh}
no
5%
EE]
o. [EE
NS
..... 00 X
— O
3
..... o5
..... <
—
----- o
—
..... o
..... 0
=-lo d
— s
— 2
=< %5
= g
I N} =
3
I M
Frimitid =z 2
4 © o 4
=] P =1 o

syoen



	Contents
	Page 1


